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Day 1: The Factory

S.W.B.A.T:________________________________________________________________________________________________________

Key Vocabulary Terms: 
Enclosure:________________________________________________________________________________________________________
Capital:___________________________________________________________________________________________________________
Clermont:_________________________________________________________________________________________________________
Tenements:______________________________________________________________________________________________________

A Turning Point in History

In 1750, most people worked the land, using handmade tools. They lived in simple cottages lit by firelight and candles. They _________________________________________________________________________. In nearby towns, they might exchange goods at a weekly outdoor market. 

With the _________________________________, the rural way of life began to disappear. By the 1850s many country villages had grown into industrial ______________________________. People bought food and clothing in stores that offered a large variety of machine-made goods. 

Oddly enough, the Industrial Revolution was made possible in part by a change in the farming fields of Western Europe. Improved methods in farming such as _________________________________________________
___________________ made better use of the land. 

Meanwhile, rich landowners pushed ahead with ____________________________________________________________
__________________________ formerly shared by peasant farmers. As millions of acres were enclosed, farm output rose. Many farm laborers were fired and went to the cities looking for work. 

Population Explosion

The agricultural revolution contributed to a rapid growth of population that continues to exist today. This population boom was due more to _________________________________ than to rising birthrates. The agricultural revolution reduced the risk of famine. 

Because they ate better, women were healthier and had stronger babies. In the 1800s, _________________
___________________________________________________________ further slowed deaths from disease.  

The Industrial Revolution Starts in Britain

A number of key factors contributed to the Industrial Revolution beginning in England. Britain was a small nation with ________________________________________________________. These included coal to power steam engines. It also had plentiful iron to build the new machines. With so many farmers out of work because of the enclosure movement, England had a ________________________________________________.  

New technologies and economic conditions helped spur the Industrial Revolution in England. Inventions helped to industrialize England’s cities, while the business class had accumulated _________
______________________________________________________________________________.  

In addition, Britain had ________________________________________________________________________________________. It built a strong navy to protect its empire and overseas trade. 

New machines were soon being used to produce goods at a rapid rate. Most early centers of production were built near rapidly moving streams, which provided _____________________________________
_________________________. Later, machines were powered by steam engines. 

Spinners and weavers came each day to work in these first ______________________—places that brought together workers and machines to produce large quantities of goods. 


Revolution in Transportation

As production increased, entrepreneurs needed faster and cheaper methods of moving goods from place to place. Some capitalists invested in _________________________________________________________________ that charged a fee to travelers who used them. 

Others had ________________________________________ or connect inland towns with coastal ports. Engineers also built stronger bridges and upgraded harbors to help the expanding overseas trade. 

The great revolution in transportation, however, was the invention of the steam locomotive. The original ________________________________________________________. It was this invention that made possible the growth of railroads. The world’s first major rail line, from Liverpool to Manchester, opened in England in 1830. In the following decades, railroad travel became faster and railroad building boomed. 

Other inventors applied steam power to improve shipping. In 1807, an American, ______________________, used Watt’s steam engine to power the _______________________________ up the Hudson River in New York. Fulton’s steamboat traveled at a record-breaking speed of more than five miles an hour. 

The New Industrial City

The Industrial revolution brought rapid _____________________________________________________________________. Changes in farming, soaring population growth, and an ever-increasing demand for workers led masses of people to migrate from farms to cities. 

While many moved to cities, a gulf divided the urban population. The wealthy and middle class lived in pleasant neighborhoods. Vast numbers of poor, however, struggled to survive in foul-smelling slums. They packed into tiny rooms in ________________________________________________________________.  

The Factory System

The heart of the new industrial city was the factory. There, the technology of the machine age imposed a harsh new way of life on workers. This system differed greatly from farm work. Shifts lasted ______________________________________.  

Exhausted workers suffered accidents from machines that had no safety devices. They might lose a finger, a limb, or even their lives. Coal dust destroyed the lungs of miners, and textile workers constantly breathed air filled with lint. If workers were ____________________________________________________. Workers compensation had not been created yet. 

Employers often ________________________________________________________________. They thought women could adapt more easily to machines and were easier to manage than men. More importantly, they were able to pay women less than men, even for the same work. 

Factories and mines _____________________________________________. Often, nimble-fingered and quick-moving children changed spools in textile mills. Employers often hired orphans, making deals with local officials who were glad to have the children taken off their hands. 

